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Seat No.: ________                                                      Enrolment No.______________
  

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER – IV • EXAMINATION – WINTER 2012 

 
Subject code: 345003 Date:  27/12/2012 
Subject Name: Structure - II 
Time: 02.30 pm - 05.00 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version is considered to be Authentic. 

 
Q.1 (a) Multiple choice questions 

1.Within elastic limit in a loaded material, stress is  
a)inversely proportional to strain b) directly proportional to strain 
c)equal to strain d)none of the above 
2.The ratio of normal stress of each face of a cube to volumetric 
strain is called 
a)Poisson’s ratio b)bulk modulus c)modulus of rigidity d)modulus of 
elasticity  
3.If a beam is supported on more than two supports ,it is called a 
a)built in beam b) continuous support c) simply supported 
d)encastered beam 
4.A simply supported beam of span (l) carries a point load W at the 
center of the beam, The bending moment diagram will be a 
a)parabola with maximum ordinate at the center of the beam b) 
parabola with maximum ordinate at the end of the beam c)triangle 
with maximum ordinate at the center of the beam d)triangle with 
maximum ordinate at the end of the beam 
5.A simply supported beam carries u.d.l.w/unit run over the whole 
span l .The S.F. at the center is  
a)wl/2  b)wl2/8 c) wl/4 d) zero 
6.A simply supported beam of span (l) carries a point load W at the 
center .The downward deflection at the center will be  
a)Wl3/8EI b)Wl3/3EI c)5Wl3/384EI d)Wl3/48EI 
7.The bending stress at the neutral axis in rectangular section of 
beam is 
a) Zero b) maximum c) minimum d) none of the above. 

07 

 (b) Fill in the blanks. 
1. In a simply supported beam, when the S.F. changes its sign or 
becomes zero, the B.M. becomes -----------------------. 
2Column is a vertical member of a structure which carries axial -----
-------load. 
3. The ratio of length of column to its minimum radius of gyration is 
called-----------------------. 
4.In the overhang beam ,the point at which B.M. becomes zero is 
called ----------------- 
5. The ratio of modulus of elasticity of two materials is called --------
-----. 
6A simply supported beam of span l carries u.d.l. w/unit run ,the 
value of maximum B.M. is --------------------  
7The ratio of lateral strain to linear strain is called---------------------- 

07 
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Q.2 (a) A brass bar having cross-sectional area 1000mm2 ,is subjected to 

axial forces as shown in fig.1 Find the total elongation of the bar. 
Take E=1.05x105 N/mm2

07 

 (b) 1). A rod 150 cm long and diameter 2.0 cm is subjected to an axial 
pull of 20KN.If modulus of elasticity of material of the rod is 
2x105N/mm2.Determine 1)the stress 2) the strain 3) the elongation. 
2).Distinguish between modulus of elasticity and modulus of rigidity

05 
 
 

02 
  OR  
 (b) 1). Find the minimum diameter of a steel wire ,which is used to raise 

a load of 400N if the stress in the rod is not to exceed 95MN/m2. 
2). Distinguish between direct stress and shear stress. 

05 
 

02 
    

Q.3 (a) A tensile test was conducted on a mild steel bar .The following data 
were obtained. 
1.diameter of steel bar=3cm 2.gauge length of the bar=20cm 3.load 
at elastic limit =250KN 4.extension at load of 150 KN=0.21mm 
5. Maximum load =380KN 6. Total extension=60mm 7.diameter of 
the rod at the failure=2.25cm 
Find 1). Young’s modulus 2). The stress at elastic limit 3).total % 
elongation 4.total % decrease in area. 

07 

 (b) Draw the shear force and bending moment diagram for a cantilever 
beam of span l carrying u.d.l.w/unit run for the whole span. 

07 

  OR  
Q.3 (a) Draw the shear force and bending moment diagram for a simply 

supported beam of span l carrying u.d.l w/unit run for the whole 
span and carrying apoint load W at the mid span. 

07 

 (b)  i)Define the following 
1. Poisson’s ratio 2.volumetric strain 3. Composite section 
ii) What is a point of contra flexure? 

06 
 

01 
    

Q.4 (a)   1. State the assumptions which are made in Euler’s column theory. 
  2. State the four types of end conditions of the column. 

07 

 (b) A strut2.50m long is 60mm in diameter .One end of the strut is fixed  
while the other is hinged .Find the safe compressive load for the 
member using Euler’s formula, allowing factor of safety 
3.5.TakeE=2.1x105 N/mm2

07 

  OR  
Q. 4 (a) Define :1. Moment of resistance 2. Section of modulus 07 

 (b) Draw the shear stress distribution diagrams for the various uniform 
sections of beam. 

07 

    
Q.5 (a)  1. Draw a deflection diagram of a cantilever beam of length 

carrying u.d.l w/unit run for a distance a from free end  & also give 
formula for the deflection at the free end. 
 2. A cast iron cantilever of length 1.5 fails when a load of 1920N is 
applied at the free end .Determine the stress at failure if the section  
of the cantilever is 40mmx60mm. 

07 

 (b) A steel rod of 30mm diameter is enclosed centrally in a hollow 
copper tube of external diameter 5cm and internal diameter of 4cm 
diameter .The composite bar is then subjected to an axial pull of 
4500N .If the length of each bar is equal to 15cm,determine 1) the 
stress in the rod and the tube, 2) load carried by each bar .Take 
Es=2.1x105N/mm2and Ec=1.1x105N/mm2

07 



  OR  
Q.5 (a) 1. State the factors affecting the deflection of the beam. 

2. Draw the bending stress diagram for a beam of uniform I section. 
3. State the types of bending moment & explain them. 
4.Explain :crushing load 

06 
 
 

01 
 (b) Give a detail comparison of S.F. & B.M. diagrams of beams ,when it 

is a cantilever beam carrying u.d.l. w/unit run for the whole span  
and when it is simply supported carrying u.d.l w/unit run for the 
whole span. 

07 
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Q.1 A હȱલëી° ુ  ̆ĕો 

1.Ԍયાર° પદાથ½ ઇલાƨટ�કલીમીટ મા ંભાર વહન કર° Ɨયાર° તમાે  ઉͯƟƥȱં ુƨ˼સ°   

અ)Ęનૈ  ના Әધા ̆માણમા ંબ) ƨ µ˼ન ના સમ ̆માણમા ંક)ƨ µ˼ન ની બરાબર ડ) ઉપર 

માથંી એકપણ નહ� 

2.એક ɉબુ ના ́ણયે  ફસ°  પર લાગતા ડાઇરકટ°  ƨ˼સ°  અને વોƣȻમટ�રકુ ે  ƨ˼સ°  ના 

રિશયોન° ે  

અ)પોઇશન રિશયો°  બ)ƞƣક મોડȾલસુ   ક)મોડȻલસુ  ઓફ ર�ĥડ�ટ� 

ડ)મોડȻલસુ  ઓફ ઇલાƨટ�સીટ� 

3.જો બીમ બે કરતા વધાર° ટકા°  પર આધા�રત હોય તો તને ે 

અ)�બƣટ બીમ બ)ƈƛટ�ƛȻસુ બીમ ક) સાદ�ર�તે ટકવલ° ે  ડ)એƛકƨટર બીમ કહવાય° . 

4.એક સાદ�ર�તે ટકવલ° ે  બીમ નોƨપાન l અને મƚયમા એક�બ�ȳભારુ  W લાગે 

છે.તનાે  નમન ȴણ½નાુ  આલખમાંે  

અ)પરબોલાે  કȐનો°  મͰતમ ઓ�ડ�નટ° મƚયમાહોય બ) પરબોલાે  ક° Ȑનો મͰતમ 

ઓડ�નટે  બીમનાછડાપરે  ક)િ́કોણ કȐનો°  મͰતમ ઓડ�નટે  મƚયમા ંડ)િ́કોણ ક° 

Ȑનો મͰતમ ઓડ�નટે  બીમ નાછડાપરે  

5.એક સાદ�ર�તે ટકવલ° ે  બીમ કȐનો°  ƨપાન ( l ) અને તનાે  પર સમિવતર�ત ભાર 

07 
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w/unit run લાગે છે.તમાંે  બીમ ના મƚય મા ં S.F.     

  અ)wl/2   બ)  wl2/8      ક)  wl/4     ડ)   zero                                              

6.એક સાદ�ર�તે ટકવલ° ે  બીમ કȐનો°  ƨપાન ( l ) અનતનાે ે  મƚયમા ંએક�બ�ȳભારુ  W 

લાગછે ે.તમાંે  મƚયમા ંથȱં ુડ�ફલકશને   

   અ) Wl3/8EI  બ)  Wl3/3EI   ક)   5Wl3/384EI   ડ)  Wl3/48EI                                

7.એક લબંચોરસ બીમ ના સકશને  મા ંƛȻટરલુ  અë પર બƛડӄગે  ƨ˼સ°   

અ)Ƀƛયુ  બ)મͰતમ ક)ƛȻનતમુ  ડ) એકપણ નહӄ                     
 B ખાલીજƊયા ȶરોૂ  

1.એકસાદ�ર�તે ટકવલ° ે  બીમ મા ંԌયા કત½ન બળ તȵંે  ુ �ચƛહન બદલે અથવા Ƀƛયુ  

થાય Ɨયા ંનમનȴણ½ુ  -------- થાય. 

2.કોલમ એક ઉƚવ½ ƨͽકચર મƠબરે  છે ક° Ȑ --------- અëીય ભારવહન કરછ° ે. 

3.કોલમની લબંાઇ તથા તનીે  ƛȻનતમુ  રડ�યસ°  ઓફ ગાયરશન°  નો  

ȤણોĂરુ ----------કહવાય° . 

4.ઓવરહƛગ°  બીમ મા ંȐ �બ�ȳપરુ  નમનȴણ½ુ  Ƀƛયથાયુ  તે �બȳું ને ---------કહવાય° . 

5.બે પદાથ½ના મોડȾલસુ  ઓફ ઇલƨટ�સીટ� ના ȤણોĂરુ  ને -------------કહવાય° . 

6.એક સાદ�ર�તે ટકવલ° ે  બીમ કȐનાપર°  સમિવતર�ત ભાર  લાગે છે.તમાે  ઉͯƟƥȱ ુ

મહƗમ નમન ȴણ½ુ  ની �ક�મત --------------થાય.  

7.લટરલે  ƨ µ˼ન અને લીનીઅર ƨ µ˼નના ȤણોĂરુ  ને -----------કહવાય° . 

07 

Q.2 A એક̈ાસના સ�ળયાનો˲ોસ સƈશનલે  એ�રયા 1000મી,મી2અને તનાે  પર 

અëીયભાર આĴિત:1 મા ંદશા½ƥયા ̆માણે લાગછે ે .તમાંે  ઉદƟƥȱં ુ Ȣલુ  ઇલોƛગશને  

શોધો.E=1.05x105N/mm2

07 

 B 1. એક સ�ળયો નીલબંાઇ 150c.m. અને તનોƥયાસે  2.0 c.m.છે .તનાપરે  

અëીય બળ 20 KN લાગે છે.મોડȾલસુ  ઓફ ઇલાƨટ�સીટ� 

E=2x105N/mm2.શોધો 1.ƨ˼સ°  2.ƨ µ˼ન 3.ઇલોƛગશને  

2.તફાવત આપો: મોડȾલસુ  ઓફ ઇલƨટ�સીટ� અને મોડȾલસુ  ઓફ ર�ĥડ�ટ� 

05 
 
 
 

02 
  અથવા  

 B 1. એક ƨટ�લનો  વાઇર કȐનો°  ઉપયોગ 400N ભાર Әચકવામાટ° થાય છે તેમા ં

ઉͯƟƥȱં ુમͰતમ ƨ˼સ°  95MN/m2 જો હોય તો તને ે માટનો°  જĮર� વાયરનો  

ƛȻનતમુ  ƥયાસ શોધો. 

2. તફાવત આપો: ડાઇરકટ°  ƨ˼સ°  અને શીઅર ƨ˼સ°  

05 
 
 
 
02 

Q.3 A એક માઇƣડ ƨટ�લ સ�ળયા પર ટƛસાઇલ°  ટƨટ°  કરવામા ંઆવલે  છે.નીચે ̆માણેના 

ડટા°  નҭધાયા. 

1.સ�ળયાનો ƥયાસ=3 cm 2.સ�ળયાની ગજે  લબંાઇ=20cm  3.ઇલાƨટ�ક લીમીટ 

પરનોભાર=250KN  4.150 ભાર પર થતો લબંાઇ નો વધારો=0.21mm  5.મͰતમ 

07 
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ભાર=380 KN 6.Ȣલુ  લબંાઇમા ં થતો વધારો=60 mm 7.ફલરµ  વખતનો 

ƥયાસ=2.25cm 

શોધો 1.યગં મોડȾલસુ  2.ઇલƨટ�ક લીમીટ પર ઉͯƟȱં ુ ƨ˼સ°  3Ȣલુ .% ઇલોƛગશને  

4.િવƨતારમા ંથતો Ȣલુ  % ઘટાડો 
 B એક કƛટ�લીવર°  બીમ ક° Ȑનો ƨપાન “l” છે અને તનાે  આખા ƨપાનપર સમિવતર�ત 

ભાર w/unit run લાગે છે.તને ે માટનો°  કત½ન બળ અને નમન ȴણ½નોુ  આલખે  દોરો. 

07 

  અથવા  

Q.3 A એક સાદ�ર�તે ટકવલ° ે  બીમ કȐનો°  ƨપાન “l” અને આખા ƨપાન પર સમિવતર�ત 

ભાર w/unit run લાગે છે અને મƚયમા ંએક �બ�ȳભારુ  W લાગછે ે .તનાે  માટ° નો કત½ન 

બળ તમજે  નમન ȴણ½ુ  નો આલખે  દોરો. 

07 

 B 1..નીચનાે  ની ƥયાƉયા આપો. 

1.પોઇશન રશીયો°  2.વોɀમ˼�કુ ે  ƨ µ˼ન 3. કોƠપોઝીટ સકશને   

2..પોઇƛટ ઓફ કોƛ˼ાફલǛચરે  સમĤવો. 

06 
 

01 

Q.4 A  1..ઇɀરૂ ની કોલમની થીઅર� મા ંકરવામા ંઆવલે  ધારણાઓ લખો. 

 2.કોલમ ના છડાઓનીે  ચાર Ӕિતમ �ƨથિતઓ જણાવો. 

07 

 B એક ƨͽટ કȐની°  લબંાઇ 2.5mછે અને તનોે  ƥયાસ 60 mm છે કȐનો°  એક છડોે  ફ�ƈƨડ 

અને બીજો �હƛԌડ છે.ફકટર°  ઓફ સફટ�ે  3.5 છે.તો તને ે માટનો°  Ʌર�ëતુ  દબાણ ભાર 

શોધો (ઇɀરનાુ  Ʌ́ુ ના ઉપયોગથી)  
E=2.1x105N/mm2

07 

  અથવા  

Q.4 A ƥયાƉયા આપો : 1.મોમƛટે  ઓફ રસીƨટ° નસ  2.સકશને  ઓફ મોડȾલસુ  07 

 B બીમ ના િવિવધ સકશને  માટ° શીઅરƨ˼સ°  ડ�ƨ˼�ƞȻશનુ  આલખે  દોરો. 07 

    
Q.5 A 1.એક કƛટ�લીવર°  બીમ ક° Ȑનો ƨપાન l છે અને તનાે  પર સમિવ́ીત ભારw/unit 

run “a” ƨપાન માટ° ( Ⱥકતુ  છડાે  થી) લાગે છે.તનોે  ડ�ફલƈશને  આલખે  દોરો તમજે  

Ⱥકુત છડાે  પર થȱં ુડ�Ɲલƈશને  ȵં ુɅ́ૂ આપો. 

2.એક કાƨટ આય½ન કƛટ�લીવર°  બીમ ક° Ȑȵં ુસકશને  

 40 mmx60mm છે  અને તનીે  લબંાઇ1.5m છે.તનાે  પર 1920N બળ લાગે Ɨયાર° ફલµ  

થાય છે તો ફલµ  થાય તસમયે ે ઉƗપđ થȱં ુƨ˼સ°  શોધો. 

07 

 B એક ƨટ�લ નો સ�ળયો ક° Ȑનો ƥયાસ 30 mmછે. તને ે પોલા કોપરની ટȽબુ 

કȐનોબાĜ°  ƥયાસ 5cmછે અનતનોે ે  Ӕદર નોƥયાસ 4cmછે તમાંે  Ⱥકવામાંુ  આવલે  

છે..આ કƠપોઝીટ બાર પર અëીય  ખચાણҪ  બળ 4500Nલાગે છે. દરક°  સ�ળયા ની 

લબંાઇ 15cm છે.શોધો 1. દરક°  સ�ળયા મા ંઉĊƥȱં ુƨ˼સ°  2. દરક°  સ�ળયા Ďારા વહન 

થતો ભાર  Es=2.1x105N/mm2&  Ec=1.1x105N/mm2

07 
 
 
 
 
07 
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  અથવા  

Q.5 A 1. બીમ ના ડ�ફલકશને  ને અસર કરતા પ�રબળો જણાવો. 

2. બીમના એક િનયિમત આઇ સકશને  માટ° બƛડӄગે   ƨ˼સ°  ડાયા˴ામ દોરો. 

3. બƛડӄગે  મોમƛટે  ના ̆કારો જણાવો.તને ે સમĤવો. 

4.સમĤવો: Ǡશӄગ લોડ  

06 

01 
 

 B એક કƛટ�લીવર°  બીમ ક° Ȑનો ƨપાન “l” હોય અને તનાે  આખા ƨપાન પર 

સમિવતર�ત ભાર w/unit run લાગે અને બીમ Ԍયાર° સાદ� ર�તે ટકવલ° ે  બીમ કȐનો°  

ƨપાન “l” અને તનાે  આખા ƨપાનપર સમિવતર�ત ભાર w/unit run લાગે છે.તો બđે 

પ�ર�ƨથિત માતંનાે  કત½ન બળ અને નમન ȴણ½ુ  ના આલખોે  ની સરખામણી કરો. 
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